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_ QUESTION BOOKLET
This question paper contains 170 questions. / 38 Y99 7 # 170 5% |
All questions are compulsory. / B¥t w¥a HAf7amd # | ,
One question carries half mark only. / T U9 & foTu Faes AT HFFH R | .
Time : 2 Hours ooy ; 2 °ve

1. What is the default size of text in <h1l> HTML element ?
<hl> HTML 3a94 & ¢a fl Refec ama 718 7

(A) 1.5em (B) 1.75em (C) 1.25em (D) 2em
2. What is the full form of CSS ?
(A) Cascading Style Sheets (B) Common Spreadsheet

(C) Coded Style Sheet _ (D). Compact Solid State
CSSHIpisaame 7 { .
(A) Fefen wee o B wE
(C) =wfea wrEe e EEAEEH 118 22

utline co icrosoft Paint ?
2xolor from the palette.
o the tolor from the palette.

plor from the palette.
he color from the palette.

(A) By holding the Ct while sc
(B) By holding the Shift k€y.

HTEHIETR T2 § U Iy Framet (3152 1 YR =4 BT 7
(A) TRAVT R FTAFNECrl DI Peau @+t |

(B) ek & &1 AN Shift B F1 @ @ FCI :
(C) FrIMAFAFNAARB DeEmaas | | | i

(D) ¥R 5§ 2 G AR FE

4. Which utility in Windows OS is used to create disk partitioning, resize
partitions and format partitions on storage drives ?
famera 08 4, verw gferat w fows niidwm, wiffsm fames ik wiffem iz &
A 6 Fore ot 3 @ i ) gfeferdt T o e & 7
(A) defrag (B) diskpart (C) scandisk (D) dd

S.  Which toolbar in MS-Word 2013 by default contains three commands —

Save, Undo and Redo ?
(A) Format (B) Quick Access (C) Custom (D) Standard

MS-3% 2013 § ard fevhez 3 & g7 e & e s B 8 — B, g 3 g 2
(A) FHE (B) fawuwsm (C) www (D) 2=

3 Code No. : C-744/2021/Series-C




10,

12.

I?
What is the shortcut key to Redo the undone changes !

FAAR?
MS -3 5 81 10 vt ) e ) ) AR -
(A) Ctrlsy = (B) Ctrl+Shift+Z

(©) Ctrisr (D) Ctrl+¥

) e selected tex; in
Pressing removes character-level formatting from th
MS-Word document.

S 3 ST 9 g e & e e A o TR AR 3
(A) Ctrl+Enter (B) Ctrl+Space

(€) Ctrisg (D) CtrltDelete

APA, Chicago ang MLA are standard
A) document formats

C) Spreadsheet formats

APA, Chicago 3t M1.A & W -
(A) STt welg (B) - S st

(C) Treviie wiedeg (D) 4 IR I

Which tab in MS Word Provides options for table of contents, footnotes
and citations ?

(A) References (B) Format
MS g8 ;

3ﬁﬁq¥ﬁ?ﬂﬂ%ﬁﬂﬁﬁﬁm,3ﬁ=ﬁﬁ3ﬂtm fore fomey e
AR 7
(A) Fetm (B) Witz

(B) email compositions
(D) web site styles

H I e 7 2
(A) Ctrl+} (B) Ctrlss (C) ctri+o

What is the shortcut key to show “Replace” dialog in Mg Word ©
MS 7€ # “Replace” e w1 i Y '

TR AR -
(A) Ctrl+k  (B) Ctrl+g

e S g
(A) VBA (B) VC++ -

for selected words ?
(A) macro (B) thesaurus

(©) autocompjegy 1 orrect
Msaﬁﬁﬂqmmﬁmiﬁmﬁﬁ%ﬁgﬁgw% (D) autoc -
(A) B B W@ () st s

e e

(D) aiaFFE
e 2021 /SeriesC §

o
—
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14.

15.

16.

17.

18.

19,

By using option while printing more than one copy of a multi-page
document, the printer will print all the pages of each copy before printing
the next copy.

(A) spool (B) collate (C) duplex (D) sort
ferhea & sy g R % 2 o ag-udia shgiie 61w & st
gam,mm@ﬁmmmmmm%mmm
I

(A) & (B) TR (C) Tgwwg (D) Wfe

E;tering the number 0 in a cell in Excel sheet and formatting it as date will
show

(A) January 1, 1970 (B) Invalid Date

(C) January 0, 1990 (D) January 1, 1900

U Wiz 8§ e B H () T gase 0 3 39 909 (32) % w9 § wide
T femmm

(A) =&t 1, 1970 (B) 3y i@

(C) ==adt 0, 1990 (D) s==d 1, 1900 s

What does the letter ‘R’ means in a CD-R disc ?
(A) Rewritable (B) Reduced (C) Recordable (D) Read only

% CD-Rfea ‘R sismar s 5 2 7

(A) famsesm (ﬁéﬁaﬁéﬁrﬁm (D) iz 3ief

Which layer in TCP/IP'network uses *Segment” as transfer unit ?

(A) TCP (B) Physical (C) Application (D) IP
TCP/IP Jeadh # Fidt sig “Bife" 1 a0 3518 & ¥4 § I9A et R 7
(A) TCP (B) e (C) HA9EM (D) IP

Which is & communication mode in which the both sender and receiver

may transmit simultaneously ? .
(A) Half-duplex (B) Simplex (C) Full-duplex (D) Serial
Frey & & b g rerm g1 S i freflan u w wSo S Ewa R 7

(A) FF-gweE (B) fmeme  (C) $E-ggr (D) Hifww

Which of the following is not a technical specification for a printer ?

(A) Duplexing (B) DPI (C) PPM (D) Contrast Ratio
fey # 3 Y E U fiyet % forg aeeeht farfieem i 2 7 |
(A) Ta=®Em  (B) DPI (C) PPM (D) e Yri

i —— T, R PR T S —

e ——
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20,

21.

22,

23.

24,

28,

26.

An escape sequence begins witha ____ rward
(A) $ (dollar) s (B) /(fo -y

(C) \(back slash) (D) % (percentage)

CH el v v s ge A e | v
(A) $Er)  (p) ;mwum\@*m} B i ]

What does the letter *C" stands for in CMYK color model ?
(A) Cyan (B) Cream (C) Crimson (D) Chery

CMYK #er afee & e ¢ o g & 7

(A) =M (B) #m (C) wmaa (D) ¥

Which of the followi i
ey ¢ lollowing symbols represents the address operator in (

(A) $ (dollar) B) * isk
(C) & (ampersand) EiD; ’*fﬂ )

ﬁnﬁﬁﬂqﬂmcwﬁ@ﬂmmﬂﬁﬁﬁamﬁﬁ ?

What is the unit of frequency ?

(A) kbps (B) d
EL LR R S i bet (D) ampere
(A) kbps (B) #wvg ' —
What is the L o "
al 15 the Linux command 1o disp] ;
e o 0 e Spg,?mﬂ'“‘“*;gﬂ":ns §7
(A) Proc (B) lp (C) 1s ! (;
. ) ps
Is k ‘
into [P addp:g::mr SEIVICe to resolve the human readab)e domain names
Tﬂiﬂﬂﬁﬂ??ﬁﬁﬂ@ﬂﬂgﬁﬁﬁam%h
¢ 9N (B) SNMP (¢) phcp “*ﬂ*ﬁm?
Which.nf the following is an emaj] client m} o
(A) Filzil (B) e applicggio:
( underbird eshark
(A) STEedren ®) Wm?
(C) A=

(D) ‘ﬂ&mm 5
Gade e, G-I ISR S
h - .



27.

29.

3l.

Which of }iue following organizations oversees the allocation of public IP
addresses in a fair and consistent manner ?

;ﬁ%ﬁmmmmm@ﬁaﬁaﬁﬂmmmﬂﬁﬂMﬁ
?

(A) IEEEE (B) IETF (C) W3C (D) 1ANA

What does GPL mean in free software world ?

(A) GNU Private License (B) GNU Protective License

(C) GNU Public License (D) GNU Programming License

W AR g § GPL #1 % a7 # 2

(A) GNU wrgae @ga (B) GNU wrfia wma=

(C) GNU vfers emgea (D) GNU sinfi wmga-4 P
Lo

Which of the following is not a valid hexadecimal number ? K

e o & = o ve Ay Srgw sad gEn A R 7

(A) CDE (B) BCD (C) EFG s (D) _DEF
The modulo operator is represented using bo 'gguage,
i

(A) /(forward slash)

(C) ! (exclamation) ' entage)

‘C* W H FHI & weqa o e # |
(A) (B) ~ (%)

© ! ) (D) % (F&=)

Which of the following is the correct truth table for NOR operation ?
ey 1 8 99 H NOR w=eH & fore e #eaw |roft & 7

(A)[ A | B |ANORB B), A | B |ANORB
F | F F F F T
" F_|&F T F T F
T | &R T T F F
T I§T T T T F

©[ A | B [ANORB D[ A B [ANORB
F | F T F F T
EE F F T F
T | F T F T
L T T T F

i P e T —

e
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ithout moving it 1,
32, What is the shorteut key 10 permanently delete a fllew:

“Recycle Bin" in M; ~ e
ecycle Bin m?&:ﬂ;};gnﬂs? ﬁq*ﬁﬁm%%quﬁ
H 6 0T Tz g

te
(A) Ctrl + Alt + pelete (B) ctrl * D;::a
(C) Shift + Delete (D) Alt + De

) N . link 1n web pages
33.  Which of the following HTML tags is used to create a hyper |
3 G BT R a3 3 o e @ @ @ HTML 371 1 390 fay
SR 7
(A) <link> (B) <a> (C) <1i> D) <hl>
34,

Which of the following is not an essential component of a dat
communication system ?

(A) Protocol  (B) Medium (C) Message (D) Program
ﬁqﬁﬁmm%hmaﬁﬂaﬁmmﬁﬁ% ?
(A) M= (B) mem (C) =& (D) ™

35, Which of the following connectors is used for UTP cable ?

me%mﬁwﬁﬁﬁﬁﬁﬁﬁmmﬁwmi?

(A) RJ45 (B) BNC (C) S Type (D) AUI
36.  An alloy used in making heating elements for electric heating devices is
(A) Solder (B) Alloy Steel (C) Nichrome (D) Germun Sijver

foregm aefry gffmt 1 a auti mmﬁ%%qﬁmﬂmmaﬁmﬁmw& ?

(A) Hew (B) STEmwm (C) M#M (D) sy faem
37.  Brass is an alloy of

(A) Nickel and Copper

(B) Zinc and
(C) Nickel and Zinc (D) Nickel and Silver
FY U Ha= B
(C) Ffrm s fim e (D) ﬁmﬁhﬁﬁtm
38. The type of glass in making lenses and prisms is
(A) Soft glass (B) Pyrex ghass
(C) Jena glass (D) Flin

e S B et
) ) T Y

e

Code No. : C-744/2021/Serles-C 8 B

— — =



39,

41.

L

43.

Nautical mile is a unit of distance used in

(A) Astmnnp:y (B) Navigation
(C) Road mile (D) None of these
ol 1 v orrd Aifepe Azt &1 394 Bl &

(A) @ie faga #(B) Ffwmd () dewmerd (D) wH A wE A

Element that is not found in blood is

(A) Iron (B) Copper (C) Chromium (D) Magnesium
T § W AT A e 9 e 2

(A) wte (B) TR (C) wHiftraw (D) A=fiam
The number of ribs in human body is

= iR o gaferl 41 g

(A) 12 (B) 18 (C) 20 (D) 24

The code of conduct of the Vedic society was laid out in which of the
following texts 7

(A) Vedas (B) Puranas (C) Upanishads (D) Smiritis
Afem gare Y s fremmaeh 3 efafen e magd @ ma ¢
(A) 9T (B) (C) 3ufug (D) Hfa

Mahavira was born al |
(A) Pataliputra (B) Sravasti (C) Rajagriha (D) Vaishali

(A) UEAgE  (B) HrEEd (C) TR (D) St

Which is not an Indus Valley site ?
(A) Alamgirpur (B) Lothal e
(C) K aushambi (D) Balakot g
1 a1 = ey A FAE R 7

(A) 311?‘1117“1'5( (B) AUE (C) e (D) AEATHIZ

Under which Sultan, Khalisa land increased considerably ?

(A) Balban (B) Alauddin Khilji

(C) Firoz Shah Tughlaq (D) Muhammad bin Tughlaq
aefren A, fFg geam & sidma fasv g a ad 7

(A) =eTEd (B) srer3gi flaerf

(Cy T e e (D) &g fe g

R 9 Code No. : C-‘H_ﬂli_?._{lllfsm.c



, of Builders® ?
46. Which Mughal ruler has been called as the ‘Prince

(A) Babar (B) Akbar (C) Jahﬂngili; (D) Shahjapy,
ﬁﬁnmmﬁﬁq{mﬁmwﬂﬁ'ﬂ'm (D) el
(A) R (B) 3t (C) iR

47. When Subhash Chandra Bose resigned as the President of Indian Nmiﬂna[
Congress, who was appointed in his place 7

(A) Dr. Rajendra Prasad (B) Abul Ka]am Azad

(C) C. Rajagopalachari (D) Pattabhi Sitaramiah .
SN 9= 919 3 S wnedvy ey i % orere 9a & e i o 4 Eers
T TP g gam 7

(A) 3. 79 yarg (B) o HelTH IS

(C) #. Tt (D) wefiy Framian

48. The objective of Fundamental Rights in our Constitution is to provide
(A) Better material conditions to the citizens
(B) Social Justice

(C) Equality and freedom 1o all citizens
(D) Economic Justice

m#hmﬁﬁmwmﬁwmmg_
(A) FTRERT 1 Feer Wierr wiffigt

(B) st =y

(C) =it it 1 T i vy

(D) sfeles =g

49. Appointment of the mem
President

(A) On the advice of the Prime Minjsger |
(B) In his own discretion
(C) On the advice of the Vice President

(D) On the advice of the Lok Sabha

bers of the Coungi] of Mini

is made by the

Speak :
sl T 5 e o P e g :
(A) T ) e B) 3% frye o
(©) -7 wemm | N

(D) Hm
RNSEITRTL TN N Bty 6 e @ B
Code No. : C-744/2021/Sere MW
c a o



50.

51.

52.

53.

Which is not essential f; _ ,
(A) He must be a Gra d‘:};?ﬂPﬂmﬂn to become the Vice President ?

(B) He must be an Indian Citi
EE} Ee must not be less thar: T’iz;l;rears
) He must be qualified to be a member of the Rai:,ra Sabha
7

b w4 % Tor = g v T

(A) == = & wnfaw |

(B) & sea e € i |

(D) =3 T 35 een #13  ve €ef wre|

When does the probi ‘
(A) When ex%g::lus d?:glrci:nf“mhle balance of payment arise ?
(B) When exports increase

(C) When imports decrease
(D) When imports are greater than exports

K:

TATA 9 S AT FE IeA R 7
(A) & Pt aea & | (B) & frafa wgan |
(C) =& FAEEuza e | (D) v frafa @ smma sftw A 2 )

In which year the Rural Landless Employment Guarantee Programme was
launched by Government of India ?

T TR 2T T e Tymefton sy T ) e 6 I s ot 7
(A) 1981 (B) 1983 (C) 1984 (D) 1985

Which cloud is made up of tiny ice particles ?

(A) Cumulus cloud (B) Stratus cloud

(C) Cumulonimbus cloud (D) Cirrus cloud

7 a1 79 (Cloud) G&A &% il & =1 B 8 ?
(A) FTEEm  (B) whEm  (C) i i (D) W A

The study of heavenly bodies is known as
(A) Astrology (B) Astronautics (C) Astronomy (D) Ethnology

it fve &1 Ao FEanl & -
(A) wafos fawm (B) siaferafd (C) e fawm (D) W e

Hawaiian islands are located in
(A) North Atlantic ocean
(C) North Pacific Ocean

gargd (Hawaiian) Fgavs feua 2

(A) Fe! ST HERTR (B) eftvit sreenfuesh HEETH

(C) I T TERIT (D) effoft ya HEETT

. 1 Code No. : C-744/2021/Serles-C

(B) South Atlantic Ocean
(D) South Pacific Ocean




56.

57,

S8,

o9,

60.

61.

62.

Norwesters cause significant amount of rainfall in _ s
(A) Assam and West Bengal (B) West Bengal and Bd'sh_f‘ ’ 4
(C) Bihar and Odisha (D) Tamil Nadu and Andhra Pradesh
AT F o v wen o aef 7t 2 |

(A) 3w 3 afvaw g o

(C) Faem s e i

(A) Barley  (B) Wheat  (C) Rice (D) Sorghum
WA H el i R w B 2

(A) S (B) T (C) w@=#l (D) @REHE
Uruswati Himalayan Folk Ant Museum is located at which f =_..; .;:_;5:
A Reylong — (B) Naggar () Pata (D) Chs

(A) e

(B) W (C) vz (D) ==

Burah is a folk dance of which district of H.P. ?
(A) Sirmour (B} Shimla

(C) Kull D} Mandi
fmﬂiﬂ%ﬁmﬁﬁﬁmaﬁmaﬂiﬂm%? } o) e
(A) Tarn (B) e (C) Foe (D) 7@

Lohri festival of Pragpur is which level of festival 2
(A) District (B) State (C) Nationg
TG S I Py T Ik
(A) foren (B) 7@ . (C) Tm

Famous Shakti Devi temple is located at which place in FLP, ?
(A) Chhatari  (B) Bharmour (C) Baijnath (D) Karsog

fawmeret wam # forw wam w wfivg wiff 3 vt fem 2 -

(A) Baud (B) wmdn (€) s (D)
Rajiv Nayyar won the Parshuram award in which year? _
TreftE o 3 Ty sraErE e ad 8 i

(A) 1987 (B) 1991 (C) 1994 (D) 1997

Maharaja Agrasen University is located at which place in H.P. ?
(A) Baddi (B) Waknaghat (C) Bathu (DY Indora
femae wew & frm wm o wersn smd et fRmd ¢

(A) =2 (B) TR (C) &Y D) =

Code No. : C-744/2021/Series-C i2 i




67.

68.

69.

70.

Bandli wildlife sanctuary is located in which district of H.P, ?

(A) Mandi (B) Chamba (C) Solan (D) Sirm
fawreret wiw & o foet o aveeft &1 ofta s fRm 2 -
(A) AuE) (B) = (C) oM (D) fomin

%en did Dr. Y.S. Parmar become the Chief Minister in H.P. for the first
time 7

(A) 24 March, 1948 (B) 24" March, 1950

(C) 24" March, 1952 ‘ (D) 24™ March, 1956

2, 973,78, TAR yEe IR e FE a4 7

(A) 249, 1948 (B) 247, 1950 (C) 249, 1952 (D) 249, 1956

Which Himachal Princely State refused to side with the British during the

war of Independence of 1857 7
(A) Suket (B) Dhami (C) Kehloor (D) Bushahar

1857 % A 4g & o e femrere ol 759 9 S0 Y 1 8 v
feran 7

(A) g (B) urft (C) FeEeq (D) #o&m
Sh. J.C. Malhotra was the Chairman of

(A) HPPSC El_ﬁmla (B) HPSS{"Hﬂmirpur
(C) HPAT Shimla (D) None of these

oft 3. ¥, weRrEn e o O
(A) HPPSC fimen & (B) HPSSC & %

(C) HPAT fimen & (D) ¥ | 18 T

Total number of assembly constituencies in Kullu district of H.P. is
Rt 8T % Fowy foret A frerm wn Frafem & 1 g wem R -
(A) 3 (B) 4 (C) 5 (D) 6

Kashang 1 hydroelectric project is constructed on which river of H.P. 7
(A) Satlej (B) Beas (C) Yamuna (D) Chenab
Ferre 29 ) i | el fereg wieAT R A A T R 7

(A) wac (B) =@ (C) I (D) =

Guler Princely State was founded by
(A) Hari Chand (B) Alam Chand (C) Hamir Chand(D) Purab Chand

et ! T 5 e i of
A) =3 (B) IEmE=d (C) #mIRA (D) T w

e sy et D S T——

e ——— e Code No. : C-74472021/Series-C




T1.

12,

73.

74.

75.

Bhadal Glacier is situated in which district of HE.? (D) Kangra
(A) Kinnaur (B) Lahaul Spiti (C) Kullu

TemTaen w3 fe foret o virgen et R 7 o)
(A) F=in (B) wa-wfifa (C) FL ®

Pin Valley is situated in which district of H.P. 7
(A) Kully (B) Lahaul Spiti (C) Bilaspur
Rt i 3 forer ot o o st Fra 2 7

(A) T (B) wiw-uffy () e (D) FRE

Who is the first female swimmer to win seven medals in a single Olympic
event ?

(A) Janet Evans (B) Katie Ledecky
(C) Emma Mckeon (D) Inge de Brujin
T & e Tt & A vem o ave vee wfeen dow w9 € 7

(A) SR@EH  (B) ¥4  (C) witwaw (D) P AW

(D) Hamirpur

Who won the Hungarian Grand Prix, 2021 ?

(A) Sebastian Vettel (B) Lewis Hamilton
{f.‘) F erpandu Alonso (D) Esteban Ocon
wiig wis fivew, 2021 forea o 7

(A) "I 359 (B) %4 Rftez

(C) B! A6 (D) TEET 3EH

Which country has recently become the first country in the world to
manufacture fossil-free steel 7

(A) Germany (B) India (C) Japan (D) Sweden
mﬁﬁwmh,mgﬁmmmgﬁmmm‘mm?
(A) w (B) #md (C) <= (D) wiEA

In a certain code MIGHT is written as LHFGS. How is BELOW written in
that code 7

us fiffaa e # MlGHTﬁLHFGS%EHﬁﬁ‘qmm% | 3¢ #1e
BELOW i & ¥&1 fer@n smam 2

(A) CEMPX ~ (B) ADINV_ (C) ADKMV () pgnv

i




7.

Sushil lives to the North of Rajesh who lives to the west of Kamlesh. Arun

who lives 1o the South of Sushil have his house in which direction with
respect to Kamlesh.

(A) North-West (B) North

(C) South-West (D) Cannot be determined

T % 3w e # e e R 1 9 s e & offem fom d e & | gefe
% gt §f s g & A oo S few R d swwrmed 2

(A) Iat-ufgadt (B) I
(C) oftm-uffam (D) Fruff 78 = o
78. Antonym of ‘Malicious’ is
(A) Boastiul  (B) Indifferent (C) Kind (D) Generous
79.  One word substitution for *The normal abode of any animal or plant’ is
(A) Environment (B) Habitat
(C) Settlement (D) Niche
80. When | met her last year, she for five years.
(A) was married (B) had been married
{C) had marned (D) would have married
81. Meaning of the idiom *To look down one’s nose at’ is
(A) To backbite %
(B) To show anger
(C) To insult in the presence of others
(D) to regard with half-hidden displeasure or contempt
8. ‘N-Tm'iEnmy
(A) Tgw ®) sfvm () TR (D) =gsife
83, ‘wemw Wl fried
(A) W9 + 3% (B) WRT+T=  (C) ®f + 3F=< (D) 8f + wm=
84. ‘a0’ sty
85, ‘Hifm fwemd

15 Code No, : C-744/2021/SeriesC



86.

87.

88.

89,

90.

Which of the following is not a valid type for a table field in MS Access

2013 ?
(A) Email (B) Hyperlink (C) Long Text
MS Access 2013 ¥ e % forg frr & 9 61 20 ST R 7

W ¥ @) wmwhis () wmER (D) FE

(D) Currency

Two type of table views in MS Access are and Design View,
(A) Outline View (B) _I;:r_;icw

(C) Datasheet View (D) Spreadsheet View

MS Access H 29t =1 3% 2 wam  Fnfemme

(A) I ® (B) ey (C) wmRH (D) SEiemy

How will you find the data fields beginning with the letters “A’ and ‘B’ by

using “Find and Replace” dialog box | ' '
iy p og box in the datasheet view of a table in MS

MS Access 391 % %21 Wi 5 # dialog box “Find and Replace™ %1 wm
Fh A R B A IE €9 a1 221 Fies F1 3179 3 W 54 7
(A) (AB)* (B) ‘AB% (€) {AB}S (D) [AB]*

Which of the following field types in an MS Access table is readonly ?
1 4 8 19 51 MS Access Table =71 fiz ﬁﬁ?ﬁfﬁrﬂmﬁt 2

(A) Short Text (B) Currency
(C) Date/Time (D) Calculated

What is full form of ODBC ?

(A) Open Database Connectivity  (B) Object .
(C) Other Database Connectivity (D) ﬂriclg Dﬂﬂ:&:fmiﬂ:ﬂ;ﬂglq

ODBC #1 f #4712 7
(A) i S FAE (B) e Larim st
(C) FeE FeE wfdeiadt (D) et Szrm wfRefd




9. A key consists of one or more attributes of a table that is a primary
key of some other table in the database.

H (key) § @ ¥ % Th T e T mite § < ETaw ¥ g A
e o g R |
(A) Foreign (B) Secondary
(C) Alternate (DY Candidate

92. What is the decimal number represented by (10101010), number in binary
number system ?

mmmﬁmummumhmﬂnﬁhmﬁw#m% ?
(A) 210 (B) 164 (C) 170 (D) 168

93. 'What will be the representation of —25n 2's compliment form 7
95 FiETRR & w0 8 - 25 @ e Fn e ?
(A) 10001101 (B) 11100111 (C) 10011011 (D) 11001101

94. Which data structure is also known as First In First Out (FIFO) ?

(A) Stack (B) Tree (C) Queue (D) Array
< i 72§ First In First Out (FIFO) & AR 7
(A) &5 B) & (©) (D)

95. Consider the following data in an Excel Sheet. What will be the value
rerurned by Excel formula “=count (Al : C5)"?

qﬁa:ﬁzﬂﬁnﬁmﬁmﬁﬁa@m | Wl B0 “=count (Al :
C5)™ ZI 1A T 4T W7 §M 7

A B C
] S. No. Name Marks 1)
2 | ! Aman _ 6 E=x:
3 | 2 JAmj | 7
r | 3 Chinmay 7
s | 4 |Dhruv | 2
(A) 12 (B) 15 (C) 4 (D) 8
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9. A is a powerful tool in Excel to calculate,

Sllmﬂ'tarjm:‘ and
data to find out patterns and trends. analyze

(A) Pivot Table (B) lfiher (C) Macro ! (D) Rangf;
wﬂaﬁm.ﬂmmﬁzﬁmiﬁ!&mm%ﬁﬁ%

W FTN T TR g 2 |

(A) T 2o (B) fFem (C) &= (D) T3

97. Inan E_xcel sheet, the cell A2 contains a date value of 10-Dec-202)
what will be the value returned by the formula “=text (A2 i “ddd.&a:}u.l.m
Excel sheet @ Cell A2 10-Dec-2021 &1 22 aﬂﬂ!ﬂ'{ 3 FTHE ““tu?
(A2, “dddd") % g1 deq W F 7 :

(A) December (B) Friday (C) 344 (D) 6

98. Thecell Al ina certain MS Excel sheet contains the value 212, what
be value returned by formula “=ceiling (Al , 3)*7% ' -

MS Excel Sheet § cell A] & 212 % " :
— I 212}, WHEN “=ceiling (A1, 5)~3

(A) 212 (B) 200 (€) 210 (D) 215

99. Wflal“fillbcva]umdh
Yy MS Excel formula “=RASE el
MS Excel ¥0ifen “=BASE (212, 2, gy~ \$12,2,8)
(A) 10010101 (B) 1101007)

(€) 1101011 (D) Illilﬂlﬂﬂ
100. What will be the va

lue returned by MS Excel

(1,2,%in" “geryn o formula™=CONVERT
MS Excel‘i‘ﬂ"ﬁ‘n "
&m 7 ~CONVERT (102, in", “ft")~ ¥ 71 4w

- E;;].Eid\:"rhf:e Eiliuﬂngmdamv: an Excel sheet : SnoMarks 16 219 38 42 540
X 2 2
(B2:B7)” 2 U¢ retumed by Excel formula“=MEDIAN

SnoMarks 16 219 38 42 540 624

Excel ®/{e1 “=MEDIAN (B

2 : B7)” A=y
(A) 135 (B) 145 e mm{ﬁT :7
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103,

104,

m MS Excel, a s
events that can be_f-ﬂ-li"igyed i EE‘IUEHCIE of recorded keystrokes and mouse
as many times as one want.

formula
(A) (B) macro (C) table (D) array

MS EICEI ﬁ T ﬂmﬁg

@ T @) (€) ¥ D) 3

Which of the following is not a valid cell address in MS-Excel ?
Ms-Excelﬁﬁﬁﬂmmﬁuﬂaq%mﬂ% ?
(A) A:41 (B) Bas1o0 (C) ac210 (D) $AB10

How many cells are there in the cell range A10 : D30 in MS-Excel ?

MS-Excel § A10 : D30 &% =5 e @1 3 7

(A) 80 (B) 76 (C) 84 (D) 60
105. The concept of was developed by J.M. Jacquard in 18" century to
control textile looms.
(A) Abacus (B) Napier Bones
(C) "Punch Card (D) Difference Engine

10s,

18t yrarsd & #1 FEure H e w0 9@ 3w e 9
e Serreree o &1 feaw o |
(A) e B) AMmA (C) WHEE (D) fewtm W

Fourth generation computers used microprocessors which were designed
using the technology.

(A) Transistors (B) VLSI
(C) Vacuum Tubes (D) Mechanical Relays

A=Ay a7 3T feRan e & |
(A) Eﬁm (B) VLSI (=%
(C) faafa Afere (D) =i fied

S — — — —

mr—__-'-__.—-ﬂ-_-__-_.__ — ———— c— —
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' d of computers, Wha, .
107. FLOPS is a unit to measure the processing Spee P hat i g
%g%?mﬁmﬂ{m FLOPS # | FLOPS TRy,
' d
(A) Floating-point Operations Per Sc-::;n
(B) File Listing Operations Per Sﬂcng »w
(C) Foreman Libniz Operations Per 5S¢
(D) Fast Long Operations Per Second

108. B2B, B2C, G2C and C2C are the forms of :

| ing Styles
| (B) Programming
E?; (E:!Eﬁnﬂ?dﬂ:: (D) Document Formats
B2B, B2C, G2C 3 C2C @& #1 &

(A) g wtesr (B) smfimwend (C) &F0H (D) shegiiz o,

109, The sensor in mobile devices tracks the orientation wh
device is rotated.
araTge fean | S 79 o & v ot feamma i wm
(A) NFC
(C) GPS

cnever the

(B) Gyroscope
(D) Accelerometer

110. Microsoft is a cloud storage service that lets you store and backup

your files,

HIEHIEIT U% Fe138 S0 aida & ) s WU BIEA & % 379 3 ©n
&1 gl em 2

(A) S3 (B) DropBox  (C) HiDrive (D) OneDrive

111. In mobile phone Systems, a geographic region is divided up into 0
implement the concept of fre

quency reuse,

T w1 fiweg 6 ﬁﬁﬂmﬁaaﬂﬁﬁ?amaﬁr IS 1 A,

4 % form e R |

(A) ISPs (B) grids (C) cells (D) locations
112. What is full form of 10T 9

[OT H1 0 &7 § -

(A) Input/Outpyt Tesy

(B) Internet Tﬁlmﬂmmtmicaliﬂn

(C)  Input Outpy Terminal
(D) Intm¢lufThin55
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15 @ platform

(P ;ﬁ';;-tri;g cloud compy, Provided by Amazon that provides scalable and cost-

tiﬂg Eewitﬂ‘s
A * T :
ﬁmﬁmaﬁﬁg Stewnt fe e & < e wheae ol Fe-
e HAT R |
AWS
M (B) BFs (C) NTFS (D) GFS

Is @ register
th — . ter in CPU that s . : ; .
| and logic operations, stores the intermediate result of arithmetic

(A) Program Counter
(B) Accumulator
© T%‘Iﬂmﬂr}r Address Register (D) Instruction Pointer
CPUR o et & o siapmidrdty st e s & g fowe w20

FAE |
(KY ST S (B) THIT E&
() A TR (D) T T

{15, In o CPU addressing mode, the operand is included in the instruction
itself.
CPU udfin g #, s § s wffifern g e |

(A) direct (B) immediate (C) indirect (D) indexed

(16, Which is an example of secondary storage device ?
(A) ROM (B) PenDrive (C) RAM (D) Cache Memory
Fpuh i Fear F TR A E 7
(A) T ®) FHgE| (O W (D) &1 3

11 Which of the following memory types has highest speed and minimum
latency ?

(A) CPU Registers {(g{ ;Sj;_cnndar;; Memory
C he Memo mary Memory
(C) Cache Memory o o iy,

Wi 4 2 & i zea A
(A) CPUTRR (B) et W0 (C) FWiHE (D) wwd A=A

(A) last-in-first-out (B) locality of reference
(C) total internal reflection (D) first-in-first-out
~— """ 1 Code No. : C-T44/2021/Series-C




119. The two cache memory write policies are write-back and

%1 S T S Aifat # write-back 3t
(A) write-on (B) read-front
(C) dirty bat (D) write-through
120. The programs stored in ROMs, PROMs and EPROMSs of a computer
system are called .
(A) utility programs (B) boot sector
(C) software

(D) firmware

FR i & ROM, PROM and EPROM & =t programs FEEI & -
(A) Lefrdsm ®) wadm () weds (D) FHR3R

121, The keys on a QWERTY keyboard have small bumps on them to
help position the fingers without looking at the keyboard.
(A) Fand) (BY AandL
(C) KandS (D) Zand M
QWERTY $aré w F (keys) W B2t &1 A & 51 o of1-aitd
<@ siferat ) R o werae s 4 |

(A) Fa) (B) AsfiL  (0) Kaks (D) Z3hm

122. RAID technology combines multiple physical disk drives t
and redundancy. What is full form of RAID here ?
mmmmﬁmmmmmm@mmmw
FATE B # | 98] W RAID #1qu ey
(A) Redunant Array of Independent Disks
(B) Rapid Access to Independent Disks
(C) Read only Access to Interlinked disks
(D) Reduced Access to Interlinked Disks

0 achieve speed

123. Which of the following optical media storage has the highest capacity 7

(A) Blue-Ray Disk (B) Compact Disk
(C) Compact Disk - R (D) Digital Video Disk
ﬁﬁﬁaﬂﬂmaﬂﬁmﬂ&m&ﬁatﬁnﬁmﬁmﬂmh
(A) =q-1fewn (B) =iviee fam

(C) % 5 -R (D) fefoes fafeat faes
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ich component of ,
{34 ent im : laser printe :
Pgnnaﬂ pression r melts the toner particles to form

3 Drm (g) "B
R PR EF R maging Unit(C) Mirror (D) Fuser
AR 2P WiSeen ) ez e & i s 4 0wt B9

e
A) ¥ B) wies
{ B) wfingfe (o) firw (D) WH
_ which of the followip .
I (A) Solid State Digk & storage media uses flash memory ?
=
et oppy Uisk - m
T @Tﬁmﬁﬂarﬂ&mﬁw%? _
‘ HE”D| o (B) CD-im :
&) ¥ (D) e feeh
126. Arithmetic Logic Unit (ALU) is a fundamental part of of a
gomputer.
(A) CPU (B) Memory
(C) Input/output _ (D) Operating System
I * i S A qre (ALU) T TE € 2 |
(A) CPU (B) i
(C) ¥Ye/ AR (D) wigfen foem
127, The in a computer provides the option to change the priority of

booting options in the compuler system.
(B) BIOS Settings

(A) System Registry
(C) Control Panel (D) System Recovery
g | mﬁmﬁﬁﬂmﬁmﬁﬁﬂﬂﬁﬂm

e HAT 8 | |
(A) foreen Tl (B) plos &1 (C) wRm ¥ (D) foren frerad
8. Which is a wireless technology that uses multiple transmitters and receivers
to transfer more data at the same time 7
Wﬁmﬁﬂaﬂﬁtwﬂﬁ;ﬁmmmmwﬁﬁ
221 fFM AR T
e oy (C) MIMO (D) WAP

(A) WEP -
s — 3 Code No. : C-744/2021/Series-C
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129. Which of the following layers in 1SO OSI reference network model lies
between physical and network layers ? ,
i - yo— D) session
(A) datalink  (B) application (C) transport  ( i
' %
1SO OSI Tt Feadh wiger i 37 @ @ &1 S e 3 Teadh o
Aadmmd ;

(A) saifeim (B) ueefiym (C) ZmEdre (D) #9H

130. Which layers in 1SO OSI reference network model is responsible for
routing of packets over network ?

(A) physical (B) datalink (C) network (D) transport
ISDOSliﬂﬁmﬂzﬂ%ﬁzﬁﬁﬂﬂ?Eﬁﬁmmmﬂm%m%fm
fomviem Bt & ¢ |

A) e ®) ks () I (D) ZiHdre

131. A web based information repository that is collaborately edited by the
members of the concerned community is called a

(A) web application (B) wiki

(C) portal (D) blog

U qg mﬁawi‘mﬁaﬁaﬁﬁamﬁmﬂ{ﬁaﬁﬁﬁ%mﬁﬁﬁﬁﬁh
i wren & weran @ v

(A) Fav=fidem (B) fad (C) Ui (D) =

132. The frequency band of the spectrum reserved for unlicensed usage is called

band.
(A) Bluetooth (B) ISM (C) ISP (D) WiFi
mm%mm%mhmmmm%
(A) =gy (B) ISM (C) ISP (D) -

133. A computer can capture all packets being transmitted over the shared
transmission medium by setting the network interface in mode.

(A) active (B) safe (C) promiscuous (D) dormant
ﬁzﬁﬁaﬁmaﬁﬁzm@wﬂmmmm
ﬁ?w;mﬁzmaﬁmémﬁi‘r&c{aﬁ%mmﬁl
(A) ufdea (afwa) (B) A% (wpefrm)
(C) wifirerg (fufém) (D) e (ffera)
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4 g’;h;;‘:: following is an invlid IPv4 address ?
TS 1Pv4 Address # 7

(A) 10.10.1.1

(C) 74.21.18.25] (B) 218.248.240.79

(D) 192.168.1.270

35 Wh'fh of the following 1pv4 address series is reserved by IANA for private

use
¥ H T T TANA % 200 e 7 % fora [pv4 w3 dhfer o 2 7

(A) 192.168.0.0 to 192.168.255.255 (B) 74.48.0.0 to 74.48.255.255
(C) 16.16.0.0 to 16.24.255.255 (D) 190.168.0.0 to 190.168.255.255

136, Which of the following is a type of optical fibre cable ?

(A) UTP (B) Ethernet  (C) Multimode (D) CAT6
T H B W AR e S F TE R 7

(A) UTP (B) 3utae (C) wedmre (D) CAT6

137. What is the full form of the term WEP used with Wi-Fi security ?
Wi-Fi Toernfedt & g Iwam & @) WEP #1 i 9 # 1 7

(A) Wireless Equipment Protection (B) Wireless Electronic Privacy
(C) Wireless Enabled Password (D) Wired Equivalent Privacy

138, Which of the following is generally not a function of an operating system ?

(A) Process Management (B) Protection and Security
(C) Word Processing (D) Memory Management
AT 3 A A e e 1w T R 7 _—

: il
(A) Wiz ya-ud (B) HU& UH a9 =
() o St (D) Hfd yawe

139, Which of the following CPU scheduling algorithms may not cause
starvation ? _
i & %19 '@ CPU forggfem TETR®T WIEATA (starvation) 1 0T 481 &1
T 8 7 -
(A) Shortest Job First (B) Shortest Remaining Time First

(C) Priority Scheduling (D) Round Robin

r——— e p—em el T - S s . B W
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140, A 1 @ memory area that stores the data, while_il: 15 being transferred
between two devices or between a device and an app]mal}tg}. h
(A) spool (B) stack (C) buffer cache
il g R W T 2 e e R, 9 ar 9 fEama @ fiamgw ok
R i i A

(A) T (B) #% (C) T (D) &
141. Which of the following is not a major version of Microsoft Windows
Operating System ?
famera il firem &1 i @ A W A el T R 7
(A) Windows Vista (B) Windows XE
(C) Windows ME (D) Windows XP
142,

In Windows 10, how can one sneak a
or minimizing all the open windows ?
T 10 %, o i g =1 fon w2 a0 i 6 o i e A
HEHEAE 7

(A) By pressing ctri+alt+shift

(B) By moving the mouse cursor at the end of the taskbar

(C) By shaking mouse cursor

(D) by long pressing shift key

143. What is the short method to minimize all other windows except the one you
wish to keep visible in Windows 10 ?

fazrs mﬁ.aﬁm%mﬁﬂ:ﬂﬂmmmmmﬁm
FAF U Az 7

(A) By long pressing ctrl key

(B) By grabbing the window’s title har using mouse and shaking it
(C) By pressing F1 key

(D) by pressing ctrl+alt+s

144, In Windows 10, the
battery saver mode, choose a

peek at the desktop without closing

provides quick access to notifications, toggle
network and access tablet mode,

(A) Menu bar (B) Quick launch bar
(C) Action Center (D) Status bar

e mﬁ.__ﬁﬁﬁﬁ%mﬁmmﬂga.zhmtzﬁﬂmm,ﬂaﬂm
i 2aiz W vEY W e
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5 which of these descripes a i
1

146.

147,

148,

149,

150,

any input from the yger 9 tuation when a computer does not respond to
(A) sleep (B) hang

() wim (B) (C) e (D) w

;”m;a ?Hﬂﬂtmn that arises when two threads access a shared variable
- usly and the final value in the variable depends upon the order of
execution of thread instructions.

(A) deadlock (B) race condition
(C) belady anomaly (D) cache miss

C T e e B S Igva At & e 2 38 U AT = R O A
T & o 3ifa ge (i) e Fde % e A Aft o Pl 2 |
(A) TT@l® (B) WHEI (C) ¥ wwed (D) fr

What is the format of an Android application package file 7
Android qﬂhﬁﬂhmﬁiﬁrmwﬂzt ?
(A) EXE (B) DLL (C) APK (D) APF

Red Hat is an example of
(A) Anti-virus Software
(C) Database Management

(B) Linux Distribution
System (D) Image Editing Software

Red Hat 7% JaTE0 & |
(A) Qﬂ—mw (B) TR A€ LY
(©) arzra e e (D) i ufedtn wiram

' Linux command to delete a ﬁlﬂ 9
E;ha‘l:l;;ﬂg FaeATe FA® fequ =g FazERHE ?
(A) erase (B) rm (C) del ——
A/An reads one statement at @ time, translates it into —

- oes to the next statement of the program.
executes 1 ﬁ; then (Bg} interpreter  (C) linker (D) compiler
;,;} assem ﬁmﬁﬁ@zﬂzﬂmﬁ,ﬁmﬁﬂmmt'
_ % 3 ﬁzﬁzﬂtwfﬂﬂ:lt [
aﬂﬁmﬁﬂ'ﬂ’i'”'m' ) e (C) fem (D) FHTEH
(A) TN 2] Code No. : C-744/2021/Series-C




151, Which uses mnemonics for machine instructions and names for CPU
registers and memory locations 7

(A) Machine language (B) 4" gm;liutinn language
(C) High level language (D) Assembly language
ﬁnﬁ%ﬁﬁm.mﬁqﬁ&sﬁﬂ:ﬁ«uﬂwwtﬁmﬁq&ﬁﬂwﬁi#ﬁm
T (Mnemonics) 31 ST T & 7
(Cy = =i v (D) ISt W

151,

Which of the following programming languages was invented by Guido
van Rossum ?

(A) C++ (B C (C) Java (D) Python
=8 3 2 = Wfin v e &9 TEm g w7
(A) C++ (B) C (C) == (D) 9rEEH
153. Which of the following programming languages uses the concept of classes 7
(A) Functional (B) Object-oriented
(C) Procedural (D) Assembl

y
= # | = & shm v o & frgm w srm o R 7
(A) vwEEE  (B) 99-3@  (C) YFams (D) SR

154. What does the flowchart shown below perform ?
Start

(A) generate n terms of Fibonacci series
(B) compute factorial

(C) compute sum of first n natural numbers
(D) generate multiplication table of n

Code No. : C-744/2021/Series-C 28 =



(A) Trarh sferen % n 72 e T
(B) wrehra (Feeifeae) mom of
(C) WoH n Wfeeh G| & H1g 1 01

(D) n % T[T AT Ied~ FAT

155. How will you create a perfect circle using oval tool in MS PowerPoint ?
(A) By holding Alt+Ctrl key while dragging mouse to draw oval.
(B) By holding Altkey while dragging mouse to draw oval.
(C) By holding Shift key while dragging mouse to draw oval.
(D) By holding Ctrl key while dragging mouse to draw oval.
411 MS PowerPoint B 11 581 1 ST T T ot g e e weman 7
(A) WIE B G sirae e W & I A Al + Ctrl 1 1 game
(B) mﬁ@&ﬂﬂﬁﬂﬁ@ﬁﬁﬁﬁﬂﬂﬂﬁltﬁmiﬁ
(€) T ) 1 i 4 W S I F Shift 6 =
(D) mﬁﬁaﬁﬂﬁﬁmﬁqﬁmcmiﬁﬂm

156, Which of the following is not a T}'F'E of animation in MS PowerPoint ?
(A) Rotation  (B) Emphasis  (C) Motion Path (D) Entrance
MSqﬁt-mﬁaﬁﬁﬁﬁﬁaﬁ?mEﬁﬁmmﬁm#ﬁt ?

i B) T (C) HvRTy (D) @4
e [
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, ' e 5
urrent slide, the next slide, speaker Notes ang 5
q e O
157, The __ view shows

timer to help the presenter. (C) Web (D) Outline

(A) F'rir% tﬁlﬁ P““"T[g fom FAATA TATEE, ! FogE, Tt TR

) fie B) Sa (C) CL| (D) AT

158. What is the correct character sequence L0 be typed in equation editor i M5

n
. . ?
Word to insert the mathematical formula : ;En

MS % w7 ufter i oefra g7 ;X n PR 0 3 for v 2 g

T FEE IFA R 7
(A) \sum% (i=1)*(n)n (B) \sum_(i=1)"(n)n
(C) \sum$ (i=1)! (n)n (D) \sigma_(i=1)"(n)n

159. What are the names of two fictional characters commonly depicted as users
to demonsirate cryptographic systems and protocols ?

(A) Marcos and Christie (B) George and Mary
(C) Philip and Julie

(D) Bob and Alice
mWﬁ‘ﬂﬂﬁmﬁ%mmam

hee W R
memuﬁﬂﬁaﬁqﬁﬁhaﬁnqmag?

(A) s 3w e 7

(©) Fofers e e (B) ST afw &

(D) =g 3R uferg
160. Plaintext is transformed intq

(A) ciphertext (B) key by apply ing an encryption algorithm.
T T G 3 St 2o e éag L%ﬂlgest (D) alphatext

|
A) W (B) 5 (C) mﬁﬁﬁmﬁ;mmm%
161. Bitcoin and Etherium are examp| (D)
(A) Anti Malware Pebof
(C) Cr}fpmcurrem:y (B) Datap

ase Systems
MefmTmEma. (D) Cloud Seryios.
U Oreray (B) ety =
i
162. Which of the following g, (C) Trh w5 (D) werds dfad
HTMLnﬁnﬁﬁahqﬁg.,

.~ HOES not Tequire a closing tag ?
(A) <button> (B) <p> S 'ﬁﬁmﬂmqﬂ@?ﬁ 7
i S C
Code No. : C-744/2021/Series ¢ ————__ ‘) <inputs (D) <a>

(A)




>

%]Eh of the fnllnw. A
= Ing is not a valid tag in HTML5 ?
HTMLS % fir ﬁﬁ%’lﬂmﬁ‘q’utﬁ:ﬁgi ?

(A) <img>  (B) <1i> (C) <checkbox> (D) <em>

# Which language is mainly used for client-side scripting in HTML

166,

167.

168,

169,

170,

documents ?

(A) Java§cﬁpt (B) C (C) Java (D) Python
WTST ITATT T FA R 7

(A) FEfeFe  (B) C (C) (D) THEYH

Which of the following HTML tags is used to create d numbered list of items ?
72 Y e et g e e e A HTML #m 35am fn s 7

(A) <nl> (B) <num> (C) <list> (D) <ol>

Which HTML tag is used to create a cell in a table row ?
@%ﬁaﬁﬁ@ﬂﬂnﬁﬂ:ﬁmﬁnﬁﬂmm HTML 2 3w foean man 2 7

(A) <td> (B) <cell> (C) <field> (D) <tcell>
How will you add a tooltip to an HTML element ?

(A) Using style attribute (B) Using tip attribute

(C) Using title attribute (D) Using src attribute 0
wH HTML e 3 T U g -1 1 o S g 7 E%
(A) e O 6 I B) v Im@m A

(C) s T TN (D) sre 701 % I &

Which HTML tag is used to insert a horizontal line in an HTML document ?
& HTML faaiz 1 T Ao 7 % Fravm & fog # HTML 7 354

frm T 8 7
(A) <ol> (B) <ul> (C) <hr> (D) <1i>

The HTML entify to insert 8 < symbol in HTML document is
HTML e ¥, < e & faavA @ HTML uf= 2 -
(A) S1t; (B) *1t; (C) &lt; (D) $1t;

An HTML comment is enclosed inside

v HTML %2 ¥ s G ® |
{A}-ﬂ"lﬂd——} (B) <* and *>

i <1 and 1> (D) <! - - and - - >




